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Sample Final Exam

QBA 201
Managerial Statistics

I. (10 Points) Grades of students in Managerial Statistics course are normally
distributed with mean of 80 points and standard deviation of 16 points.
a) One student is selected at random. What is the probability that this
student scored between 40 and 100 points?
b) What is the grade G above which 93.7% of the students score?

2. (10 Points) The average annual salary in Lebanon was $12200. Assume that
the salaries were normally distributed with standard deviation of $2500.
a) Find the probability that, for a randomly selected sample of 25 individuals,
the mean salary was less than $13000.
b) Find the probability that, for a randomly selected sample of 16 individuals,
the total salaries was more than $180000.

3. (10 Points) A survey found that out of 200 workers, 170 said they were
mterrupted three or more times an hour by phone messages. Find the 80%
confidence interval of the population proportion of workers who are
interrupted three or more times an hour.

4. (15 Points) The number of cars sold annually by used car salespeople is
normally distributed. A random sample of 10 salespeople was taken, and the
number of cars each sold is listed here. Find 99% confidence interval estimate
of the population mean.

79 43 58 66 101 63 79 33 58 70
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5. {15 Points) A study of 25 statistical professors showed that they spent, on
average, 9.5 minutes correcting a student’s test.
a) Find the point estimate of the mean
b) Find 98% confidence interval of the mean time if the population standard
deviation 1s 2.6 minutes. Interpret.

6. (10 Points) A researcher is interested in estimating the average salary of
teachers in a large school. She wants to be 95% confident that her estimate is
correct. If the standard deviation is $1000, how large a sample is needed to be
accurate within $2007

7. (15 Points) A researcher claims that the coffee drinker consumes an average
of 3.1 cups per day. A sample of 9 drinkers revealed they consumed the
following amounts of coffee, reported in cups.

3.1 33 35 26 43 37 38 31 4.1

If the population standard deviation is 0.54, test the researcher’s claim using a
0.01 significance level.

8. (15 Points) A restaurant chain claims that the mean waiting time of customers
18 less than 3 minutes. While examining the waiting time, the manager found,
in a random sample of 41 customers, that the sample average is 2.7 minutes
and the sample standard deviation is 1.2 minute. At the 0.1 significance level,
test the claim.
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